
 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.eu 

  www.rdmoto.eu 
 

 

1 

RF01 
Honda NX 650 Dominator 1996- 

 
Kit for Left Side  Kit for Right Side 

ID Description Cat. No Pcs  ID Description Cat. No Pcs 

1 Suitcase holder RF01-L 1  1 Suitcase holder RF01-P 1 

2 Bolt M8x60mm 838 1  2 Bolt M8x60mm 838 1 

3 Washer M8 802 3  3 Washer M8 802 3 

4 Nut M8 809 2  4 Nut M8 809 2 

5 Bolt M8x40mm 828 1  5 Plastic cover M8 X5 2 

6 Dural. cylinder d=16mm 252 1  6 Bolt M8x25mm 831 1 

7 Plastic cover M8 X5 3  7 Bolt M6x30mm 864 1 

8 Bolt M8x25mm 831 1  8 Washer M6 947 1 

9 Sticker RDmoto  1  9 Sticker RDmoto  1 

10 Strut X148 1      

 
Note – We recommend using medium glue for threads of all screws (blue color).  

 

Instructions (same for right and left side): 
 

                Install the suitcase holders according to the attached photos. 
 

 

 

 

 

 

Strut X148, ID.10 

 



 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.eu 

  www.rdmoto.eu 
 

 

2 

 

    

 

Bolt M8 ID.5 + 
washer M8  ID.3 

+ dural.cylinder 

ID.6  

Bolt M8 ID.2 + 2x 

washer M8 ID.3 + 

nut M8 ID.4 

Bolt M8 original 

 
Bolt M8x25 ID.6 + 
washer M8 ID.3 + 

bolt to the licence 

plate M6 ID.7 + nut 

M6 ID.8 
 

Bolt M8 ID.8 + 
washer M8 ID.3 

+ nut M8 ID.4 


